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1| BSRHEERR- FF 5 5

2 | HSRHEERX- E 1 6

3 | HsRHEERX- k1] 2 5

4 | BSRREERR- BB 3 4

5 | BSRHEERR- EE2C 5 6

6 | BSEHERR- | BHIAR 2 3

7 | BSRREERR- BR%s 5 6
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10 | BESBHEEER- R 7 15
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3 | BSRHEERX- ] 2 4
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7| BSRHEERR- E21C 4 3

8 | BSRHEERX- &io 8 17
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10 | BSRHEEER- LN 1 5

BT B ER-

st - 1~ RABERER TOMEE, & TSEPRE | MARRISITRE
2 ~ IRl (%) = (HIRARE - REARE) + HRERE X 100
3+ AChEMMRIRAIERERRIEZL
(1) 0-34%(=34.5)&: 618
(2)35—-44% (=44.5) DEE : BAMAMSIHERRNENE - WHRRETHREEHHS -
(3) 45% (>44.5) UEE : FIRZUKE - UEREHFHREEMNIGE - iSRRXEESNEEEER

B
{LEARER - WKEREEERANREERARE
4~ RERRAER : BERE (-)  BIERME (+) ; BRAE 1 B+3RAKR50% - 2@+5RAK100%
5 - FIRRIEERHRIEF B - BRBRKR—EREIRE - MNFESHK




